
81-K 2 CCE  RR  

  RR (B) - 444   

I. 

 8 × 1 = 8 

1. A  B  

 (A) ( A   B ) l   =  A l    B
l   

 (B) ( A   B ) l   =  A l    B
l   

 (C) ( A   B ) l   =  A l    B
l   

 (D) ( A   B ) l   =  A   B 

2. a  b ( G )  

 (A) G  =  
2

ba 

 

 (B) G  =  ab  

 (C) G  =  
2

ba 

 

 (D) G  =  ab 

3. 8  12 24  

 (A) 4 

 (B) 24 

 (C) 8 

 (D) 12 



CCE  RR  3 81-K 

  RR (B) - 444   [ Turn over 

4. P ( x ) = 42 x  P ( 2 )  

 (A) 8 

 (B) 4 

 (C) 0 

 (D) 2 

5. 02  cbxax   

 (A) acb 42   

 (B) acb 42   

 (C) acb 42 
 

 (D) acb 42   

6. AB P OPA    

  

 (A) 60º 

 (B) 0º 

 (C) 180º 

 (D) 90º 



81-K 4 CCE  RR  

7. sin 30º  

 (A) 1 

 (B) 3  

 (C) 
2

1

 

 (D) 2  

8.  

 (A) 6,  8,  9 

 (B) 3,  4,  6 

 (C) 7,  8,  9 

 (D) 6,  8,  10 



81-K  2 CCE RF & RR  

  RF & RR (A) - 321  

I. 

 8 × 1 = 8 

1. 0
111
 cybxa    0

222
 cybxa    

2

1

2

1

b

b

a

a
    

 (A)  

 (B)  

 (C)  

 (D)  

2. 12  na
n

  

 (A) 0 (B) 1 

 (C) 2 (D) 3 

3.  

 (A) 0 (B) 1 

 (C) 2 (D) 3 

4. 13 sin  = 12 cosec   

 (A) 
5

12
 (B) 

5

13
 

 (C) 
13

12
 (D) 

12

13
 



CCE RF & RR  3 81-K  

  RF & RR (A) - 321  [ Turn over 

5.  POQ ~  SOR  PQ : RS = 1 : 2 OP : OS  

   

 (A) 1 : 2 (B) 2 : 1 

 (C) 3 : 1 (D) 1 : 3 

6.  

 (A) 

 (B)  

 (C) 

 (D)  

7. r  

  

 (A) 
2

360
r




 

 (B) 
22

360
r


  

 (C) r


2
180  

 (D) r


2
360

 



81-K  4 CCE RF & RR  

8.  22 cm2  

10    

 (A) 2200 cm2  (B) 2200 cm3  

 (C) 220 cm3  (D) 220 cm2  
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	2k

